Table of Contents

1 WED
" 11 VIRV XEROBF(152)
= 1.2 3DEEHKDO 7O ~(152)
2 RIARE
» 21 BRIEHES DR (p.173, 5-39)(15R)
" 2.2 [RHTERDRER(p.177, 5-60)(15R)
3 Yy —HBRIFEE(0R)
4 FIEWZE (30=)

2020 #HENIEEE pardiEZEE

cc by Shigeto R. Nishitani, 2020/11/26 /i

file: ~/symboic_math/exams/20_pre_ans.ipynb
LITOBE%Zpython TESE, LUNANIEEHE K. LUNAAN(Eipynb & pdfERX D 2 E5EZ 12T %
Ze&.

=W

VT Ny T ABEEDER(152)

PNk

1
l1+e®

flz) =

DR, BE MOERN iRy = f(o) OBR RS,

x  —00 0o - 00
f(x) 0 / 05 0
f'(x) 0 + + o+ 0
f'(x) 0 + o - 0

3DEHD Oy h(15R)
SEHDYTEAREHT, 1ZEHEEEITDERDLSHEHEES.
import numpy as np

def softmax(x,y):
return np.exp(=x)/(np.exp(=x)+np.exp(-y)+np.exp(-1))
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xdata=np.array([1,2,3,4])
ydata=np.array([0,5,15,24]1)
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https://nbviewer.jupyter.org/github/daddygongon/jupyter_num_calc/blob/master/numerical_calc/least_square_fit.ipynb
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